Dm(. Installation and Operating Instructions / 2234 i BA

Installation and Operating Instructions
Z= ¥ # B i B

Version 2022.1

PB

Wall luminaires / | B£XT

The right is reserved to change specifications without prior notification or public announcement. 10of 5

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



Dm(. Installation and Operating Instructions / 2234 i BA

IP 65 IK

9 15x 04 xx PB S 20| @ |l Rasgo dq3

240V | |Class|

Important Information /| EE{EE

1. The installation and maintenance of the product can only use the original parts, and the installation and operation of the equipment
shall be subject to national and international regulations.
AFERBREMGEF TERRERR Y, BENREMREESHTERMERER,

2. DMK is not liable for any damages resulting from improper or unskilled conduct.
DMK 7R 7B A [E 7R & S R AR T A TE R IR B R T o

3. Only qualified installation personnel are allowed to assemble and install products obtained from the DMK.

ARTERERRMAGRAZENEZEN DMK RIGHI= M0

4. The contents of this manual are subject to change without prior notice. Please refer to the material in kind.

FiEAENANBTMEEE, BABITEM, BHUZYHE,

5. If in doubt, please contact the supplier.

mAEREE, HEHMEHEKR,

Toolings / TH

+pigeLT] 3/4/8mm M AFIRTF

Recommended Installation Procedure / #F R idi2

1. Connect the power cable as shown below.

S R TR 4 220V 4T ALFEE,
™ IIIGEEE;’

This step should be operated by professional personnel to avoid

electric shock. ‘ @ @ ‘ &
HHBERELAREME, R EMEGEH, \ \

Brown  Yellow / Green Blue
= #HiF 3

The right is reserved to change specifications without prior notification or public announcement. 20of5

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



Dm(. Installation and Operating Instructions / 2234 i BA

Recommended Installation Procedure / #F R332

2. Fix the mounting base to the working plane with 4-M5x30 inner
hexagon screw. connect the fixture and mounting base with M4 x 12
hex socket screw, adjust to the appropriate direction and lock.
BATERIREER 4-M5x30 AARBETSREFEEE , TESLER
FERF M4 x 12 R AiRETERE, AEEGEABHE,

3. Adjust appropriate projection Angle and lock the M10 inner
hexagon screw and M6 set screw.
TXMBRABREGERE, PRITEERL M10 ARAELT,
& M6 ZEEET.

The right is reserved to change specifications without prior notification or public announcement. 3of5

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



Dm(. Installation and Operating Instructions / 2234 i BA

IP 65 IK

9 153 04 xx PB Sx 200 11 @ 1l Rasgo C€

240V | |Class|

Important Information /| EE{EE

1. The installation and maintenance of the product can only use the original parts, and the installation and operation of the equipment
shall be subject to national and international regulations.

A= RBREMBH TIERRERERE B, RENREMREERATERMERER,

2. DMK is not liable for any damages resulting from improper or unskilled conduct.
DMK 7R 7B A [E 7R & S R AR T A TE R IR B R T o

3. Only qualified installation personnel are allowed to assemble and install products obtained from the DMK.

ARTERERRMAGRAZENEZEN DMK RIGHI= M0

4. The contents of this manual are subject to change without prior notice. Please refer to the material in kind.

FiEAENANBTMEEE, BABITEM, BHUZYHE,

5. If in doubt, please contact the supplier.

mAEREE, HEHMEHEKR,

Toolings / TH

7

+FiBs2T] 5mm WA RBIRF 10mm F AR F

Recommended Installation Procedure / #F R idi2

1. Fix the mounting bracket with the installation plane by 2-M6 x 60
expansion bolts.
BRIETEA 2-M6 x 60 WAKER S REFEEE,

2. Adjust appropriate projection Angle, and lock the M6 nut on the bracket.
KTHAEESERHRE, BIEXRE M6 12,

3. Fix the anti-drop chain to other positions. BIRAE 16 VAR @ ) 2o
BRI RETEAMME, N e
@7/"[ P
<
2-M6x60 BZAKERAE \\\ijj/ /
==
s

The right is reserved to change specifications without prior notification or public announcement.

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com

4 of 5



Dm(. Installation and Operating Instructions / 2234 i BA

Recommended Installation Procedure / #F R332

4. Connect the power cable as shown below. (Note: This step should be operated by professional personnel.

BTERURER 220V STRERSZ, (F: EHFRFHTWARIRE)

 /T——
[ e . [© ) 6
— ———|gavg—— < | | |
Brown Yellow / Green Blue
s | . # foA &

5. Connect the DMX signal control line as shown below (note: this step should be operated by professionals.
R TEERITE DMX ESE61% (F: TREHEWAGIRE)

- BR<100K — Ble< 100K AT R <0 - BE<100% _
DMK CONTROLLER ;w\
- . s — — L A i
D
w
B
|
o . E
i — s
4 ' i — e ST —
T ‘ Cl= =i ~mEiSn- e
VAN
L]
&
®
A
MAGH S B hiB kA C RMpABEE ) RIS
The right is reserved to change specifications without prior notification or public announcement. 50f5

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



